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C6<DLNM
10n

I�OFM=:
n
E,PQM=P�RS>TM=<U<DMVGWIXRD>TJZY

A = 103
× 105 B =

107

10−3
C =

102 × 104

103

D =
100 × 103

10−2
E = 10 ×

(

102
)5

F = (−10)2
× (−10)−3

021���	43��536�[%\7 9^])MV:VRSE�MHGTM_:=IFGA:VE,G'@DE�>TOXIFP�R`MVP�J5IF>T@SIFP�RZIFa�a'IF<SI4bARS<?McRSC6EdRSM=@ZGAMV@fegRhIFa�M=@
>TPiRDM=<?L�eVj,>WIF>T<DMV@kY

G = 7, 5 × 103 + 35 × 10−2
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m6nHo Mpa'IF<?:=C6E�<D@

8 m
MVP m @DMV:=C6P�j,M n

q C6LKr,>AMVP.j�MpRDM=LNa,@BOXIF>A@tsTu?MkLNMVR?RS<DMpa�C6E,<Ba'IX<D:=CFE,<D>T<
100 m vwdn_x IyGAE,LN>AzV<DMka,IF<D:VC6E,<?R

3 × 105 km
MVP m @DMV:=C6P�j,M vq C6LKr,>AMVP�j,MURSMVL�a�@ZOXI{LNMVR?RS<?M_GAI|GTE,LN>Az=<?MBa�CFE,<}a'IF<D:VC6E,<?>A<}GWI~j,>T@?RhIXP,:=M2�dC6GTM=>AG�s

�
M=<?<DMF�+:X��MV@?R?s��4s�j�>A<DM
1, 5 × 108 km v021���	43��536��-�7 �dC6>�R

C
E,P.:=MV<D:VGAMpj,Mpj,>WIXL�zgRS<DM

[AD]
RSMVG��iE,M

AD = 10 cm
n ��C6>TR

BE,P.a�C6>AP�RUj,EQ:=MV<D:VGAM
C
RSMVG���E�M

AB = 8 cm
n

m6nH� E,MVGAGAM2M=@?RHGWI�P,IXRSE,<?Mpj,E.RD<D>AIFP,�6GTM
ABD vwdnH� CFPiRD<DMp�iE,M|GWI�GACFP,�6E,MVE,<

BD
M=@�R

6 cm
n

��n �dCF>TR
P
GTM~a�C6>TP�RUj,E�@?M=�6LNM=P�R

[AB]
RDM=G��iE,M

AP = 5 cm
n'x INa�M=<?a�MVP,j,>T:=E,GAIF>A<?M

�yGWIyj,<?C6>TRDM
(BA)

a'IF@?@SIFP�RHa'IF<
P
:=C6E,a�MpGWI�j,<?C6>TRDM

(AD)
M=P

R
n

q IFGT:=E,GTM~GWI�GTC6P,�6E,MVE,<
AR

MVR_j,eVj,E,>T@�s�MVP�GAI�GAC6P��6E,M=E�<
RD

n


